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Sodium thiosulfate titrant 0.025N WP68780

IODINE SOLUTION  .025N    1L W2410

Starch Solution, 4L W2277

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:
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9034
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Diff (mL)
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1 PB114117BL 50 14:0510/23/20180.004.824.820.005.005.061 0.000.18

2 PB114117BS 50 14:0810/23/2018200.002.302.300.005.005.041250 2.522.70

3 J5625-01 50 14:1210/23/201845.674.244.240.005.005.081 0.580.76

4 J5625-01DUP 50 14:1510/23/201844.094.268.504.245.005.081 0.560.74

5 J5625-01MS 50 14:1810/23/2018105.723.483.480.005.005.071250 1.341.52

6 J5625-01MSD 50 14:2210/23/2018104.143.506.983.485.005.071250 1.321.50

7 J5625-03 50 14:2510/23/201840.944.304.300.005.005.081 0.520.70

8 J5625-05 50 14:2810/23/201837.874.348.644.305.005.071 0.480.66

9 J5625-07 50 14:3210/23/201834.994.384.380.005.005.031 0.440.62

10 J5625-09 50 14:3510/23/201849.214.208.584.385.005.041 0.620.80

11 J5625-11 50 14:3810/23/201858.154.084.080.005.005.091 0.740.92
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1



Seq Lab ID DF Anal

Time

T2  

Initial
AnalDate

T2  Final T2 Diff. 

(mL)
Result 

(ppm)

True

Value

(mg/L)

Final

Volume

(mL)

T1

(mL)

Reagent/Standard Lot/Log #

Sodium thiosulfate titrant 0.025N WP68780

IODINE SOLUTION  .025N    1L W2410

Starch Solution, 4L W2277

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:

Normality2:

9034

LB98793

Sulfide

0.025

0.025

ketankumar

apatel

T1 - T2 

Diff (mL)

Value 

Corrected 

With Blank

Initial 

Weight 

(g)

12 J5625-13 50 14:4210/23/201861.904.048.124.085.005.041 0.780.96

13 J5625-15 50 14:4510/23/201858.504.084.080.005.005.061 0.740.92
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


